BIOLOGY

UNIT 5 STUDY GUIDE
DNA/PROTEIN SYNTHESIS

1)
What does DNA stands for?
2)
In DNA, the base pair adenine pairs up with what other base?
3)
In transcription the base pair thymine pairs up with what base?
4)
RNA is a single/double strand nucleic acid.

5)
What characteristics did Watson and Crick both agreed that a DNA molecule had to have?
6)
Who were the first to “discover” the structure of DNA
8)
The purines in DNA and RNA include which bases?
9)
The term for the exchange of information from DNA to mRNA is called what?
10)
What does mRNA stands for?
11)
mRNA moves from the ribosome to the nucleus in order to produce more what?
12)
Protein production takes place in the cytoplasm at which organelle?
13)
After transcription the mRNA moves out or the nucleus and into the cytoplasm traveling to what organelle?
14)
The backbone or upright portion of DNA is alternating ___ and ___.

15)
When DNA is replicated it unzips and then each base pair is matched with its corresponding base resulting in two identical molecules of what?
16)
In DNA the base guanine pairs up the with what base?
17)
Translation takes place where?
18)
In RNA, during transcription, the base pair adenine pairs up with which base?
19)
tRNA stands for what?
20)
In DNA, the base pair cytosine pairs up with which base?

21)
In DNA, the base pair thymine pairs up with which base?
22)
Protein is actually a string of what?
23)
Every three base pairs in RNA is called a ?.

24)
What does DNA do?
25)
The physical structure of the genetic code is DNA’s sequence of what?
26)
The general shape of a DNA molecule is what?
27)
How would you describe RNA?
28)
The pattern of base pairing in DNA can be summarized by what rule?
29)
Transporting amino acids to the ribosomes for assembly into needed proteins is the function of what?
30)
Transcription occurs where?
31)
The number of bases in a codon is?
32)
If you were given the base sequence: ACGUCGUCGUAUUAGUCCGAUG, you would have which nucleic acid?
33)
Uracil is a purine/pyrimidine?.

34)
How many rings do pyrimidine have?
35)
What is the correct order for protein synthesis is?
36)
How many types of RNA are there?

37)
What were Watson and Crick were looking for in a DNA molecule?

38)
A sugar, phosphate, and a nitrogenous base make up what molecule?















39)
Which of the above is a sugar?

40)
Which of the above is adenine?

41)
Which of the above is paired with cytosine?

42)
Which of the above is a phosphate?

43)
Which of the above is replaced with uracil on mRNA?

45)
A helix can best be described as what shape?
46)
RNA stand for what?
47)
There are ___ different types of amino acids.

48)
There are ___ different possible codons.

	
	Purines
	 
	Pyrimidines
	 

	 
	Adenine
	Guanine
	Cytosine
	Thymine

	Human
	30.4
	19.6
	19.9
	30.1

	Ox
	29
	21.2
	21.2
	28.7

	Salmon
	29.7
	20.8
	20.8
	29.1

	Wheat
	28.1
	21.8
	21.8
	27.4

	E. Coli
	26
	24.9
	24.9
	23.9

	Sheep
	29.3
	20.7
	20.7
	29.2


50)
What does the above show?

	1st base
	 
	 
	 
	2nd base
	 
	 
	 
	 
	 

	 
	U
	 
	C
	 
	A
	 
	G
	 
	 

	U
	UUU
	Phy
	UCU
	Ser
	UAU
	Tyr
	UGU
	Cys
	U

	 
	UUC
	Phy
	UCC
	Ser
	UAC
	Tyr
	UGC
	Cys
	C

	 
	UUA
	Leu
	UCA
	Ser
	UAA
	Stop
	UGA
	Stop
	A

	 
	UUG
	Leu
	UCG
	Ser
	UAG
	Stop
	UGG
	Try
	G

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	C
	CUU
	Leu
	CCU
	Pro
	CAU
	His
	CGU
	Arg
	U

	 
	CUC
	Leu
	CCC
	Pro
	CAC
	His
	CGC
	Arg
	C

	 
	CUA
	Leu
	CCA
	Pro
	CAA
	Glu
	CGA
	Arg
	A

	 
	CUG
	Leu
	CCG
	Pro
	CAG
	Glu
	CGG
	Arg
	G

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	A
	AUU
	Iso
	ACU
	Thr
	AAU
	Asp
	AGU
	Ser
	U

	 
	AUC
	Iso
	ACC
	Thr
	AAC
	Asp
	AGC
	Ser
	C

	 
	AUA
	Iso
	ACA
	Thr
	AAA
	Lys
	AGA
	Arg
	A

	 
	AUG
	Meth
	ACG
	Thr
	AAG
	Lys
	AGG
	Arg
	G

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	G
	GUU
	Val
	GCU
	Ala
	GAU
	Asp acid
	GGU
	Gly
	U

	 
	GUC
	Val
	GCC
	Ala
	GAC
	Asp acid
	GGC
	Gly
	C

	 
	GUA
	Val
	GCA
	Ala
	GAA
	Glu acid
	GGA
	Gly
	A

	 
	GUG
	Val
	GCG
	Ala
	GAG
	Glu acid
	GGG
	Gly
	G


51)
Using the above chart, determine the sequence of amino acids from this sequence of mRNA: UUUUACAGGGCCGUAGAAUGA
MATCHING: Match the term below with the correct definition above.

53)
The purine that pairs with thymine.

54)
The term for a sugar, phosphate, and a nitrogenous base.

55)
The base that replaces thymine in mRNA.

56)
Two spirals.

57)
The nucleic acid that brings the amino acids to the ribosome.

58)
The nucleic acid that is copied from DNA and moves to the ribosome.

59)
The term for the copying of DNA into mRNA.

60)
The term for three bases that code for one amino acid.

tRNA

Nucleotide

Double helix

mRNA

rRNA
Codon

Uracil

Transcription

Adenine

P





P





P





P





P





P


























